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QUESTION 1

For which benefit should you recommend HPE 3PAR StoreServ 20450 over the 9450 model? (Select two.) 

A. higher performance (IOPS and bandwidth) 

B. better density of SSD drives in the base rack 

C. power and cooling efficiency 

D. higher per-node cache 

E. easier management 

Correct Answer: BC 

 

QUESTION 2

Which features are part of the HPE 3PAR Storage Federation solution? (Select three.) 

A. Persistent Cache 

B. Peer Motion 

C. Online Import 

D. Peer Persistence 

E. Persistent Ports 

F. Catalyst Store 

Correct Answer: CDF 

 

QUESTION 3

Which HPE Storage family should you recommend to a customer who is looking Tor maximum availability with the
lowest in class TCO for enterprise consolidation? 

A. HPE 3PAR StoreServ 

B. HPE Simplivity 

C. HPE Nimble 

D. HPE XP 

Correct Answer: B 
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QUESTION 4

In the Peer Motion unidirectional workflow, what is the allocation status on the destination array during the Admit stage? 

A. No local storage is allocated. 

B. Full capacity of the actual data size is allocated. 

C. Full capacity of the volume raw capacity is allocated. 

D. Capacity of the actual data size in RAID 1 is allocated. 

Correct Answer: A 

 

QUESTION 5

What are the correct N:S:P failovers of Persistent Port in a 4 node HPE 3PAR StoreServ? (Select two.) 

A. 2:0:1 to 3:0:1 

B. 1:0:2 to 2:0:2 

C. 1:0:1 to 2:0:1 

D. 0:0:1 to 1:0:1 

E. 3:0:1 to 1:0:1 

Correct Answer: CE 
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